Statistics for Epidemiology                 Nicholas P. Jewell 

Solution Set: Chapter 3
Question 3.1 
Let E represent eating no fish reported at entry and (not E) represent consuming more than 35 grams of fish per day at entry.

Let D represent death from CHD.

	
	D
	not D
	

	E
	42
	163
	205

	not E
	34
	227
	261

	
	76
	390
	466


Estimation and confidence interval for P(D|E):
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Estimation and confidence interval for P(D|not E):
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STATA:


(Immediate confidence interval command)


. cii 205 42

                                                   -- Binomial Exact --

Variable |     Obs         Mean    Std. Err.       [95% Conf. Interval]

---------+-------------------------------------------------------------

         |     205      .204878    .0281895        .1518266    .2666694
. cii 261 34

                                                   -- Binomial Exact --

Variable |     Obs         Mean    Std. Err.       [95% Conf. Interval]

---------+-------------------------------------------------------------

         |     261     .1302682    .0208349        .0919288    .1772544
(Entering the data)



. input fish chd count

          fish        chd      count  

  1.        1          1        42

  2.        1          0       163

  3.        0          1        34

  4.        0          0       227

  5. end

. sort fish

. ci chd [fweight=count], binomial by(fish)

->  fish=0   

                                                   -- Binomial Exact --

Variable |     Obs         Mean    Std. Err.       [95% Conf. Interval]

---------+-------------------------------------------------------------

     chd |     261     .1302682    .0208349        .0919288    .1772544
->  fish=1   

                                                   -- Binomial Exact --

Variable |     Obs         Mean    Std. Err.       [95% Conf. Interval]

---------+-------------------------------------------------------------

     chd |     205      .204878    .0281895        .1518266    .2666694
Question 3.2

P(single parent) = 65,085/986,342 = 0.066

P(death) = 664/986,342 = 0.000673

P(suicide) = 115/986,342 = 0.0001166

P(death|single parent) = 56/65,085 = 0.00086041

P(death|two parents) = 608/921,257 = 0.00065997

P(suicide|single parent) = 19/65,085 = 0.000291926

P(suicide|two parents) = 96/921,257 = 0.000104205
It appears that living arrangement is associated with both total mortality and death from suicide, with “living with a single parent” increasing both. The association appears greater for suicide than for total mortality.

Question 3.3

� EMBED Equation.3  ���
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